Midsegment Theorem

Gaais + ldentify the midsegments of a triangle.
+ -Use properties of midsegments of a triangle.
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Midsegment of a triangle
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 Example 1 Using Midsegments

Show that the midsegment FG is ¥ | Jl'i)
parallel to side CD and is half as E(r3fa) Gl | D54
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Solution
&

1
o? Use the Midpoint Formula to find the | =5 %—/1 Ll 3 ] 3
coordinates of F and G.
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Next, find the slopg D and FG.
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7~ Remember: The \_‘ Slope of CD

slope m of the line
passing through .
(Xq,¥q) and (xy, y5) Slope of FG
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# Because the Iop 2

\_ Next, find the lengths of CD and FG.
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# Because % — -§- = _‘3: FG is half as long as CD.



THEOREM 5.9: MIDSEGMENT THEOREM

The segment connecting the midpoints of ¢
two sides of a triangle is parallel to the
third side and is half as long. D £
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goen e Using the Midsegment Theorem

ST and TU are midsegments of APQR. P
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Find PR and ST. 20 /
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1. Show that the midsegment MN is AX(5 5| s w1\
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parallel to side JK and is half as T*: e S K -—Ehﬁ; ({—73}
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278 and BC ore midsegmens m‘-r
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BC = 7(xY)=z(a8)= (1




